AP® MICROECONOMICS
2008 SCORING GUIDELINES (Form B)

Question 2

6 points (3+ 1 + 2)
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(a) 3 points:
e One point is earned for the correctly labeled graph with O, and Py, correctly identified.
e One point is earned for correctly identifying Qs.
e One point is earned for shading the area of the deadweight loss.

(b) 1 point:
e One point is earned for stating that the MSC is less than the marginal social benefit.

(c) 2 points:
e One point is earned for stating that the tax will increase the deadweight loss.

e One point is earned for the explanation that the tax raises the cost and causes output of vaccine to
fall.
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AP® MICROECONOMICS
2008 SCORING COMMENTARY (Form B)

Question 2

Sample: 2A
Score: 6

The student earned all points in this question.

Sample: 2B
Score: 4

The student lost 1 point in part (a) for an incorrectly identified area of deadweight loss. The student earned
the point in part (b). The student lost 1 point in part (c) for an insufficient explanation of how the tax would
increase the deadweight loss.

Sample: 2C
Score: 1

In part (a) the student earned a point for a correctly labeled graph with P, and Q. at the intersection of
supply and demand but lost 2 points because the graph appears to be for a negative externality with Qs to
the left of Q.. The area of deadweight loss does not correspond to the location of the supply curve at Q.
The point in part (b) was not earned because the student states that the MSB is equal to the MSC. The
student did not earn the points in part (c) because of the statement that deadweight loss will fall.
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